DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

Drvision: ) Name:
Time: Score:
2y —2168.4 + (—4) = 36 —150.8 + (=0.2) =
22) —6.948 =+ (—0.04) = 187 —265.53 + (=3) =
23) 2.3226 + 0.03 = 55 1356.4 + 0.4 =
1) GAT6.4 =9 = 139 —6302.7 + (=9) =
125 —608.4 =+ 0.4 = uo) 1385.1 + (—0.3) =
126) —5744 = 10 = - —11.36 + 0.02 =
vy 717 =01 = 142) 283.68 + 0.03 =
29 2105.4 + (—0.3) = w3 728.8 + (—0.08) =
129 582.24 + (—0.06) = 1w —4.239 0.1 =
50 2,48 +0.08 = w1004 + (=8) =
13 125.24 = 92 = a6) —2449.5 + 3 =
132) —H83.38 + 0.9 = “n - —515.08 +06 =
w9 0.2634 + 0.06 = s —21.896 + (—0.04) =
1319 0.807 = 0.06 = 19) —13.006 = 0.07 =
135 651 — 6 = 150) —72.168 =+ 0.08 =
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